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QUESTION 1

Click the Exhibit button.

-- Exhibit -user@router> show system users 9:28PM up 2 days, 3:02, 2 users, load averages: 0.06, 0.13, 0.09 USER
TTY FROM LOGIN@ IDLE WHAT lab u0 - 9:13PM - -cli (cli) admin p0 10.210.15.30 9:45PM - -cli (cli) -- Exhibit
-Referring to the exhibit, which two statements are true? (Choose two.)

A. The admin user is connected through a console session.

B. The admin user is connected through a Telnet or SSH session.

C. Both user sessions will be cleared after issuing the command request system logout terminal.

D. The lab user\\'s session will be cleared after issuing the command request system logout user lab.

Correct Answer: BD

QUESTION 2

Given the example shown below:
Emergency boot media > flash disk >
What is missing from the default boot list?
A. LAN

B. USB

C. PCMCIA card

D. hard disk

Correct Answer: D

QUESTION 3

Which three statements are true about performing an ISSU on a Junos device? (Choose three.)

A. Every PFE on each FPC downloads the new software from the backup RE.

B. ksyncd synchronizes the kernel on the backup RE with the master RE.

C. The backup RE verifies disk space on both REs, unsupported configurations, and unsupported PICs.
D. The master RE verifies disk space on both REs, unsupported configurations, and unsupported PICs.

E. Any unsupported PICs will cause the ISSU process to fail with "Error: incompatible hardware detected."

Correct Answer: ABD
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QUESTION 4

An interface on your Junos device reports a device-level flag of Loopback-detected. What is causing this flag to be
reported?

A. The link-layer protocol failed to successfully connect with the remote endpoint.

B. The interface was administratively disabled.

C. The interface is in promiscuous mode and sees frames addressed to all physical addresses on the medium.
D. The interface link layer received its own frames.

Correct Answer: D

QUESTION 5

Click the Exhibit button.
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You recently added an EBGP neighbor to R1 and you are receiving a single BGP route for their internal network. You
notice that on R2 the route learned from C1 is being marked as hidden because the next hop is unusable.

Referring to the exhibit, what should you do to resolve the problem?

A. Create a next-hop-self import policy on R2 and apply this policy to IBGP.
B. Create a next-hop-self export policy on R1 and apply this policy to IBGP.
C. Create a next-hop-self import policy on R1 and apply this policy to EBGP.
D. Create a next-hop-self import policy and apply this policy to IBGP.

Correct Answer: B
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